CONVERSION OF RUPEES AND PAISE
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Converting rupees into paise '
| rupee = 100 paise

| To convert

rupees and paise into
paise, remove ¥ and the | ~ To convert rupees
_dot (). Write'p for paise ( Into pauset, .m""'pl);;he
' ~ ' amount in rupe
at The end. by 100._

4 rupees 50 paise =& 4}x50=__\475_0;p ¥2=2x100 = 200p__~

3 rupees 7'5‘ paise =X 3 5= Al ¥3=3x100=300p ——
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Converting paise into rupees

To conveﬁ‘ pdisé into . 355 p=3%3.55 Quick TIP
rupees, count 2 digits from the i
right and put a dot there. Write 270 p = 47 2.70 Do not put a
X at the ?'egmnrmg. 800 p = 2 _2_-00 p E;ﬁ;rsghe (;)t
7205p=372_°_05 , /?'3_52
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EXERCISE 9.1 su= ﬁ
A. Complete the table. 36 re heel kb A& e £y
AMOUNT o | ”

AMOUNT IN WORDS “(&\
IN PAISE | IN RUPEES .

L 220 p X 2.20Q Tiop nu pX Q¢ dwe ncl Yy pa (4O

2 7550p | 3L0-LD gw.m,ﬂp;m. vew peo 8 | gﬂ ~\w| pase

v \;
3. YO\OP| 210410 Ten rupees ten paise

6rc @ 615 |Civ pupeeq ¥efleon Pase

S 1325p | 5 \2.26 | Thoert Yoo Hupee @ twoe nd ff-\ cve parse §
N




B. Convert into paise.

1. £8.00 =_€goup
2. £21.90 = _z_j_QP

3. ¥13.30 =_1330p

C. Convert into rupees.

2. 900p =34.00¢
3.9995p = _Z 999 g1
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Do tn hook cz;,nc\ (r;,\j

X 3.05
X 14.25
X 20.75

= 1400V f

C“‘SP

L 440p =T &C

3 15 p = - & =
990 p = =140
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Raj has 915 paise. Who has the most money‘?

T T TR AR

729995 =494995 P
8.249.65 =4965P
9.2 10.00 =_1C0OPN

7. 1000 p = 2 100D
8. 1010 p = _3 10-10
9. 8005 p =5 °0.0C

Samir has 9 rupees 90 paise while Angel has T 9.95.
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